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[bookmark: _GoBack]You have a couple of garden hoses connected together to water your back yard. Because you're (as I am) a physics nerd, you put a gauge where the two hoses connect to each other. The hose ends with your sprinkler. When you put a crimp in the hose to stop water flow, you noticed that the gauge pressure registered 5.00 x103 Pa. When you release the crimp what is the velocity of the water flowing out?

[image: ]

Answer:


[image: ][image: ][image: ][image: ][image: ]


image1.png




image2.png




image3.emf



P1 + ρgh1 +
1
2
ρv1



2 = P2 + ρgh2 +
1
2
ρv2



2



P1 = P2 +
1
2
ρv2



2



1 atm + 5.00x103 pa =1 atm + 1
2
ρv2



2



v2 =
2(5.00x103 pa)
1.00x103 pa



= 3.16m / s
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You have acoupleofgarden Hoses connected together to wateryour back
yard. Because you'e (s 1 am) a physcs nerd, you puta gauge where the two
Toses connect o cach ather. The hoseends with your sprinkler, When you
puta crimp inthe hose to stop water flow, you noticed that th gauge
pressure egistered 5,00 10° Pa. Whe you release the rimp what i the
velocity of the water flowing out?




